[E 8 i #ET (A1) 2019415

2 g = ko= UIitS
" (KG) _ [MEEaEtEaAEAEs (FA) EG[ELAERE] T A/t [§8 LEH)
[FHREEZOMDIEHES 97.368 A 142 A 334 184,308 A 129 A 250 1893 210
HEERO v iRIEREUVZD Itk 529,695 10.1 A 404 190,597 4.7 A 393 360 6
ZTRMDIRIEREVZD[E1atk 46,698 A 238 A 171 219.244 A 229 A 227 4695 A 336
a()LiER 1,443,654 A 10.8 A 266 2,126,701 A 97 A 289 1473 A 49
ZHD [ERGRER . a1 /LIt L5 171,580 A 238 A 418 609,470 A 94 A 298] 3552 606
5t 2,288,995 A 84 A 31.7] 3,330,320 A 10.2 A 29.2] 1455 51
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=1 E 2 B St [ T:LJﬁﬁ B
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 128,479 6.9 32.0] 283,690 47.9 53.9] 2208 315
HEERO v iRIEREUVZD Itk 597,849 A 128 129] 214113 A 124 12.3 358 A2
ZTRMDIRIEREVZD[E1atk 64,994 14.1 39.2 217,767 A 202 A 07] 3351 A 1344
a()LiER 1,750,748 A 94 21.3] 2,572,121 A 24 20.9] 1,469 A4
ZHD [ERGRER . a1 /LIt L5 246,593 A 181 43.7 749,926 16.8 23.0] 3,041 A 511
5t[ 2,788,663 A 99 21.8] 4,037,617 1.3 21.2] 1,448 A7
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=1 E X 5B 0 I‘V 7":")1& zi
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 126,865 9.7 A 13| 216822 A29 A 236 1,709 A 499
HEERO v iRIEREUVZD Itk 812,536 A 9.1 35.9] 290,899 A 9.1 35.9 358 A0
ZTRMDIRIEREVZD[E1atk 57,611 A 235 A 114 280,355 A 187 28.7] 4,866 1516
a()LiER 1,943,606 A 2.1 11.0] 2,813,540 A25 9.4| 1,448 A 22
ZHD [ERGRER . a1 /LIt L5 212,080 A 382 A 140 777433 A 6.1 3.7] 3.666 625
[ 3,152,698 A 77 13.1] 4,379,049 A 49 8.5 1,389 A 59
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2 g = ko= UIitS
"= (KG)__ [miaEa=emaRnES _ (FM) o A BB EC) T 1/t [§1A ELCFR)
[FHREEZOMDIEHES 122,522 A 169 A 34 252,120 40 16.3] 2,058 349
HEERO v iRIEREUVZD Itk 749,637 23.7 A 77 271397 37.4 A 4.6 370 12
ZTRMDIRIEREVZD[E1atk 64,428 A 14 11.8 294,801 A 39 52| 4576 A 291
a()LiER 1,771,083 A 10.6 A 89| 2708505 A 12 A 37| 1529 82
ZHD [ERGRER . a1 /LIt L5 266,475 A 263 25.6 915,345 11.6 17.7] 3.435 A 231
5t 2,974,145 A 6.0 A 57| 4448168 3.2 1.6] 1,496 107
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2 g = & ko= UIitS
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 83,301 A 254 A 320[ 155820 A 208 A 332[ 1871 A 187
HEERO v iRIEREUVZD Itk 723,877 34.1 A 3.4] 260,449 31.7 A 6.1 360 A 10
ZTRMDIRIEREVZD[E1atk 46,633 A 213 A 276 226,120 A 234 A 233] 4849 273
a()LiER 1,699,627 A 1.1 A 40| 2501,093 A 14 A 77| 1472 A 58
ZHD [ERGRER . a1 /LIt L5 203,540 A 402 A 236 697,493 A 1638 A 238 3427 A3
=t 2,756,978 A 05 A 73] 3840975 AS55 A 137] 1,393 A 102
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=1 E X 5B 0 I‘V 7":")1& zi
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 116,186 6.3 395 216,070 A 35 38.7] 1,860 A 11
HEERO v iRIEREUVZD Itk 837,280 1.1 15.7] 307,755 6.8 18.2 368 8
ZTRMDIRIEREVZD[E1atk 51,591 A 73 10.6 277.309 A 127 226] 5375 526
a()LiER 1,886,953 0.1 11.0] 2,577,584 A 93 3.1] 1,366 A 106
ZHD [ERGRER . a1 /LIt L5 231,734 A 255 139 704,436 A 79 1.0[ 3,040 A 387
=t 3,123,744 A 2.1 13.3] 4,083,154 A 80 6.3] 1,307 A 86
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2 g = ko= UIitS
"= (KG)__[iEEa=GEARREG] (TR B A ERE] M/t [51A L)
FREEZDMDIEDHES 111,700 A 158 A 39| 204474 A 164 A 54| 1831 A 29
HEERO v iRIEREUVZD Itk 699,954 A 97 A 16.4] 244586 A 113 A 205 349 A 18
ZTRMDIRIEREVZD[E1atk 58,436 A 59 133 319,239 A 34 15.1] 5463 88
a()LiER 1,755,305 A 04 A 70| 2554594 A 6.1 A 09| 1455 89
ZHD [ERGRER . a1 /LIt L5 225111 A 263 A29 782,644 A 17 11.1] 3477 437
5] 2,850,506 A 62 A 87| 4105537 A 6.0 0.5] 1,440 133
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2 g = ko= UIitS
" (KG) _ [MEEaEtEaAEAEs (FA) EG[ELAERE] T A/t [§8 LEH)
FREEZDMDIEDHES 114,810 A 128 2.8] 203568 A 130 A 04| 1773 A 57
HEERO v iRIEREUVZD Itk 696,710 10.7 A 05[] 249718 8.7 2.1 358 9
ZTRMDIRIEREVZD[E1atk 57,253 79 A20 301,771 A 119 A 55] 5271 A 192
a()LiER 1,710,238 1.1 A 26| 2472364 A 6.6 A 32| 1446 A 10
ZHD [ERGRER . a1 /LIt L5 220,033 A 209 A23 731,859 A 62 A 65] 3326 A 151
=t 2,799,044 0.5 A 1.8] 3,959,280 A 65 A 36| 1415 A 26
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2 g = & ko= UIitS
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 125,408 35 92| 231,450 8.5 13.7] 1,846 72
HEERO v iRIEREUVZD Itk 736,976 A 16.1 58] 256,624 A 174 2.8 348 A 10
ZTRMDIRIEREVZD[E1atk 65,523 A53 14.4 288,891 A 472 A 43[ 4409 A 862
a()LiER 1,582,839 A 16.7 A 74| 2414380 A 104 A 23| 1525 80
ZHD [ERGRER . a1 /LIt L5 203,323 A 238 A 76 754,793 A 86 31 3712 386
=t 2,714,069 A 16.1 A 30| 3,946,138 A 140 A 03] 1454 39
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e 5 3 b & Ui
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
[FHREEZOMDIEHES 119,360 A 130 A 48 221,430 A 184 A 43] 1855 10
HEERO v iRIEREUVZD Itk 602,059 A 232 A 183] 226,131 A 216 A 119 376 27
ZTRMDIRIEREVZD[E1atk 57,771 A 164 A 118 299.006 A 410 35| 5176 767
a()LiER 1,577,479 A 27.2 A 03| 2483317 A 140 29| 1574 49
ZHD [ERGRER . a1 /LIt L5 260,149 A 48 27.9 818,533 A 41 8.4 3.146 A 566
] 2,616,818 A 237 A 36| 4048417 A 15.8 2.6] 1,547 93
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=1 E X 5B i I‘V 7":")1& zi
"= (KG)  [iaEm =G A RaEG] (TR |[MEEnECo B EmEs) T M/t [#A L)
FREEZDMDIEDHES 119,458 14.6 0.1 196,417 A 337 A 113] 1644 A 211
HEERO v RIEREUVZDIEtatk | 1,043,865 21.3 73.4] 396,270 423 75.2 380 4
ZTRMDIRIEREVZD[E1atk 57,907 A 10 0.2 268,022 A 198 A 104] 4628 A 547
a()LiER 1,876,852 A 10.9 19.0] 2,592,178 A 15.1 4.4] 1,381 A 193
ZHD [ERGRER . a1 /LIt L5 195,518 A 221 A 248 734,138 A 120 A 103] 3755 608
=t 3,293,600 A 26 25.9] 4,187,025 A 127 3.4] 1,271 A 276
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ip 1= fifi %

i (KG)__ [miaEa=emaRnES _ (FM) o A BB EC) T 1/t [§1A ELCFR)
[FHREEZOMDIEHES 110,980 A 240 A 71 226,161 A 80 15.1] 2,038 394
HEERO v iRIEREUVZD Itk 677514 A 237 A 35.1 232,405 A 260 A 414 343 A 37
ZTRMDIRIEREVZD[E1atk 61,677 94 6.5 265,594 A 63 A 09] 4306 A 322
a()LiER 2,390,587 21.6 27.4] 3,018,490 0.9 16.4] 1,263 A 118
ZHD [ERGRER . a1 /LIt L5 202,985 A 31.1 3.8 925,259 6.6 26.0] 4558 803

5[ 3443743 2.8 4.6] 4,667,909 A 038 11.5] 1,355 84




